H =

IE|

H

L(D@HG® Y ) 2.

1 2x

VL SRS E I 2D oT

B—YoL Wit
F1iRN HFAE5HE
(Dx+3

(D3x DHx+3 3. < 4.

(F=0)

1A 2.B 3. C

JLoo20 X 30X

=50 2. x1+73=166

—HEZZI0, 3. 4 SO 4 SR
4. 5 KWE S X ELE/IT

HE—

I,

N1 ()

2R FXPVERRELIZD
COREEC SRt 2.0 R 3. RAEIE

-

4. (ODHxz=30(/) Ox=3(/)

LXK 200X 3o 4

J1o+3.2 +3.2 7.7 2. —520 —520 280
LA 20A
L2=8.5 x=61 I

7. 1 2—50=100 =150 2. x+200=450 =250

\—
-

H B

. 90

F 3R FXBVMEFRFIRLZEQ)

.1.B 2.B 3. A 4. C

LLoX o200 30X

L1 +10 =10 112 2. X0.6 X0.6 1.8
ca=0.15 x=0.81 N

1o 4r=16.8 x=4.2 2. 3x=225 x=75
.13 2.45

(2)x—3

>N

2. —HEL

H 4
%

T H B [ H B

JE|

H

o3 7 22 28 2. X .x+52=67

s x=20

1. at1.5

VL AED BN

L x=33.5

CLOmBER JOREE mRERE OREE 2. Ik

F 4R EIR
1. 2a=36
2X1.3=2.6 x=5 ab=10 6—Y=0.12 FH:.x+

52=67 1.2a=36 x=5 ab=10 6—Y=0.12

3.< < > 4 ZXMME

LJLoX 20 X 30 4

x=31.6 x=2 x=2

. 1..50 2. 20

V32

SE5iIR0Y  BUFSIERRRSCERIEN (1)

2. 1.5a 3. x+2 4. 2x
BENEC LR
WER L RER L

EA NN PN

2. BERMEL EEREL
3. BREBRKE 2K

V1045 2. 25
L1.0.06 T3 2. 18 3. 144 cm

.70 200

F6IRNY BSISERRRSFRIEI(2)

=10 x=89 x=0.2

DRERSEEC AHGHMREEEC  AHAHMRSEE  IRDR PSSR

. 1. 605 2. 30

V112 2,60 3.3
!
H7IREN  HIR
L1.C 2.B 3.8
=472 =1 =10 2=20
. W
17002 10 2. 12 H
.13 K

119



CLION IEEEW - EERMECRR - TR

E8IRMY FISIERRRSCFRBIM(I)

—. 1. 3x 2. 2.5a 3. 88+18x

=.1. x=4.2 2. =31
ZAbE 21 K

35120 H

m, 1. [E3H 2. (D50 2 38120 H

(D550 R
.Y #wE®32E

£ 91RIY SIS EMRREFRIDI (4)

79y 79

—. 1L 3x 5x 9x 9x 2. 792 7%

Lx=6 x=2 =2 =10
L1 10/hRE 20 20 Tk 3. 20 Tk
JLo4E 2,605
. BRE 24 BERR%L 96

£ 101R0 HKIR

x=10.1 x=2 x=1

H B

—. x=167
. 1. 462+8=468 2. 25x+2=375
L1 B8N 128 N 2. EidA 1290 N 38.4TT

3. 301k 4. 12k

3. 2.4x—2x=16.8

M. a=5 b=6
E1IRN BESEIMD
—. L m —E A 2. & BRL OEX 3 W
TR TRME 4 4898—x

.1.B 2.C 3.C
CLOEE 20 W
V122K 20 1134 3. 25 434

.

H B

12170 BES5%4IQ)
—. =6 2=12 x=1 x=3
V135 37 a—1 a+l 2.3z 2z
KB (DOFETFIMER
o118 20 NIy 58 K
M. 65

3. (DERBK

(32 4.5

JNBE 174 5K 3. 15 A

120

FE—PITHAET Sk R
[(EX%3]
LHA2.5 TR WA 475 TK
F—BTRTNHS
—. 1L 54— X=b

1. 2A=24 14X0.3=4.2 ab=

0.8 8b=0.56 FFE:.54—X=b 1.2A=24 ab=0.8

8b=0.56 2. x+—4 3.13 15 17 4. —&F A—&F

5.5 6.8 920 7. a—2 at+2 8 1.2 12

10. 32—12 11. 4x ax 1000~z 12. (H<<T

= <

. L X 2.4 3. X 4 X

=.1.C 2.B 3.C 4B 5B 6C 7. A

M, x=22.1 x=5 x=6 x=20 x=88 x=4.08

AL 2=173 2. x=2.25 3. x=40 4. x=3.3

7. 1 19825 2. 40 T3 3. 15 T35 4. 24 EK
5. 7.8k 6. M§120 R

H7 2. 29Fm H 36T
BT PrksiihE

F£11RY BRAFEAITE
. (LZA®EA A @OLtAx+=HA A

X 840 H

£.1. 29

(W 2. (D1
(DU (5HmE 3. B
F£21RY SANRERITE
152Kk 4 A6 652k (DATH (D
O VKAAM BB A P RESs T, Ve
(DOmg 3. B

EI3RIY LR
L (DOFEI1% 24JEK (224 (D125 FK (DN
BALREIL (DA
FAMAEAE R 3. (DR ETHEH 2R 28 E ok

D14 24 4 FREMST e S E I

380 4 200 (24 6 1 4 (3)400

1. (D3 AW
2. (D (D12 A

PLEY B 52 BT

2. (DfFT K 9 10 (OHAZE



srmE Ul
FE_ BT EER SH R E ROBI 7. MRS HIT 8. A—2 A+2 9. %
[EHX%3] ZL Y 20X 3 40X 5 Y
L3 FHARF2E0 HIE 5 FHARF L, 2. TR 3 T BIA
S5AMF R A, 3. 5 AMFEEEA3AMRTFHA

.6 12 18 24 30 &

=

VDA 0 R 8 BITT () AN SE 0 BIT] ()M &

. 40 2 3 AL EE S AR 34 S, 0BTl (DAMESE 0 3K 8 BIT]  (5)AMvif& 3 3% 7 AT
F_BreTlins .41
—. L FEGHE kst 20 rksitE 30 sk 3Rt 3 BVEHBVISAIE
4. (D30 30 (2)80 100 (3)2:50 3:10 (H)15 — L&A ERFE 3B E 2.1 2 3015 210
12 (54 132 450 603 708 255 4. 12 99 5. Ak
Z.1.C 2.C 3B 4C 6. AME—(273 237 732 723 327 372)

LW @2 AR A O1AF2ABHARESA | =Y X VX XYV VY
WH B3 Fw £38.33F% (5)5H 6 Hok2 Ak
3H ©FHELA ZBETHE 2. (D1 AMH (D5

[

JLoX 2.4 3.J 4 X 5. 6 X

=

.9 18 27 36 45 54 63 &

AFl6 A 40z=k (D2 AF3A M=K (W6 A H.O 3 6 9 (25 8 25 8 A 4 D
40 2K (AT 68.33 2K BTi6l.52XK 0 3 6 9

3.(Lmg (O ETF 35 H W2 H 1708 ~.1.3 6 12 15 30 60 2. 2 RifE—
GIVKAE 158 &5 WL 218 & (6) kA . Dtk bl F 4R HIR

—. 1. (32 380 192 360) (125 380 360) (192

P

H=or WEHEE

360) (380 360) (3600 2. (1 3 5 7 9 11

1R RESEBH 13 15 17 19 (2 4 6 8 10 12 14 16
—. L KRR AL BH 2.2 7 14 14 27 18 200 (2 (1) 3.72 9 8 9uk9 8
3.(1 2 3 4 6 12) (12 24 36 A48-e-e- ) 4. ABRM LR 5 10 6. A—1 A+1 &
4. (D9 (D9 (D2 WAME— 7. 30 90 120 990
Z.L X 2.4 3 Y 40X L 20X 3. 4 5 X

[

J1L.C 2.A 3A 4A 5 A

.1.B 2.B 3. B 4 C 5. B

11 IFRE Qi G 5 G =5 € Sk VS VOl 7 M, (DAL 0.2.8 B =AEEIAT (DM 0 Y =A%
F.1 042 8 2,12 8 6 4 3 2 1 B B BEIRT (3)F 0.2.7 B¢ 0.7.8 ALY =7 FX R AT
A.1 2 3 4 6 9 12 18 36 (D F0.7.8 LA L 0 B9 =i ek 0.2.7 AR AIA
S5 21R0Y 2 F0 5 BVEEBVRFIE PEER 0 1 = E R Ay
— LA osg2aE4sesks 2. o= 5 3. (902 ., 5069
64 128 230 76 56 50) (15 230 25 50) E5i20 BREFNSH
(902 64 128 230 76 56 500 (11 15 33 25 | —. L REURHO HE 2. e R FE 3.3
317) (230 500 4. 0K 5 5. 9990 1000 6. M 4.(2 3 5 7 11 13 17 19 4 6 8 9 10

121



UL IR W - TESE R - STHIR

12 14 15 16 18 (0 2 4 6 8 10 12 .7
14 16 18 (I 3 5 7 9 11 13 17 19 FE 8B ANMEHAI/NANEZH
5. (44 65 87) (23 59 41 37 79 10D —. 1. 4.8,12.16,20,24,28.32.36 O 6.12.18,24.,30,
6. (1 2 3 4 6 8 12 16 24 48 (2 3 36MA (4 8 12 16 20 24 28 32 36) (6
7. 13111 7H17 3119 41F07 8.4 2 12 18 24 30 36) (12 24 36 (12)

T X 2.X 30X 4. 5 X 6.+ 2.

=.1..B 2.B 3. B 4 C 5 C

M. 1. 11/7 2.2 3. 3%32% HBE6S
B AME— 3. RME—(24 3--) 4.36 1 36 2 36 4 36
%61k REFNDBRREL CRME—)

—. 1 A% 2. FEHFR fEEEE 3.5 7 LA 2B 3C 4 B 5. B

P

4, 42=2X3X7 5. 2 17 6. FRHEHK

.24 63 105 180 51 54

7. 24=2X2X2X3 30=2X3X5 7. 6.40
Z.L X 2.X 3. 40X 5 X 6.+ H. 66 A
=.65.51,120.93 W[ 65=5x13 51=3X17 9120 BES543I(1)
120=2X2X2X3X5 93=3X31 —. 13 14 3 14 220 1 0 4 2 1 3.9 @
M, 55— = Ul S AURAT L (4 6 8 (3 5 7 4. 32=2X2X2X2X2
B BCTT LA e B DR K O e 5. (56 74 90 208) (45 27 90 129 105)
B2 Az SRR (45 35 90 105) (90) 6. 9=2-+7 27=3+5+
75,13 17 31 37eeeee 19 20=2+7+11 24=11+13=5+19=7+17
E7R ARYNRAARHY 7.54 8.3 9 15 45

—. 1 1.2.3.4.6.8.12.24 WO 1.2.3.4.6.,9.12,18.36 JLoX 20 X 30X 4 X 50X 6. X

P

i /\ (1 2 3 4 6 8 12 24) 13.37.59 2% 10=2X5 21=3X7 35=5X7

(1 23 46 9 12 18 30 (1 2 3 4 6 40=2X2X25
12) 12 2.4 12) (2 36) (15 25 4fies | B L0 2468 225 8 306 40 52
&% 4 Fil 15) 5 8 6.420 450 480
N H.3
& o s F10RN BEB553IQ
— LB A 21 AB 3.2 4 4 (1 476 (5 75
4. 6,125 24 (2 4 (12 360 (1 99 (3 300 5.5 7 1
Z.LC 2B 3 A 4C 6. (6 12 18 24 30 36) (4 8 12 16 20
=14 021 12 15 4 15 24 28 32 36) (12) 7.6 420 8. 1
M. 6 JEk Z.LA2A3A4AS5AG6C

122



= =

. 8 cm
LS

VR

75, 67

F£1118 NE5RNFEHE

N P G % VG & o G/ G & Gl

oo A 20 % W Mm% s B
W% wg A 30 AME— 40 S SEH
Harf HimE SAar

LA 2.B 3.A 4B 5 A

L EEC 2. (%

V164

F=P TR S Pk B

| @) |
40 K 13 H

N

[

1L C

F=PrxeTlins

1.0 2 4 1 0 2.9 15 (2 (1) 3. (56

94 6)(6 135 105 87 93) (65 135

6.3 7.2 7 8 {B¥ #H

Bo9.2 35 7 11 13 17 19

105

4.1 2 517 19 21
O 2 4 6 8
10 12 14 16 1® a1 3 5 7 9 11 13 15 17

19

LY 20X 3 X 4 s Y

2.A 3.B 4B 5 A

1 32=2X2X2X2XK2 60=2X2X3X5 T8=2X3X

13 45=3X3X5 2.4 5 17 4 2 1 3.60 25

14 48 357 56 4. (1)(360 306 630 390--)

(2)(306 309 903 603--+) (3)(360 630 930

960--+)  (4)(360 630 930 960-+-) (5)(306 906

960-++)  (6)(360 630 930 960--+) (7)(360 630

930 960---) 5. (92 6 28 30 70 58 50 110

810 108) (6 15 30 33 810 108 63) (15

30 70 125 50 110 810

A,

N

Il

LA 2.A 3.C

L62 274 FHE6TH ¥ROTH WrioT

o 3. 604 4. FF K 5 43 N 6. 7:00

B (A

2.30 3.24 26 28 4. HKIEBITH

1. 92 ax

WESITE 5. 2x 3x 6.2 4 7.6 a 8.

X =

0.6 5.3 9. 1B% #%k 10.0 11.18 3 6 3
6 18 12. (1 3 9 27 (3 13. KT 14. 13
15. 12 96

JLoX 2. X 30X 4 X 50X

4. B 5 A

M. 1. 2=3.7 =48 =12 z=2 2.6 1 3
3.35 12 18

FH. L 3z=36 =12 2. 182=450 =25

N. L 147em 2. 10006 3. 21 A 4. 30k 5. 124
6. 20/ 7. (D1 (223 (D7 (D17
GYEFFFE TR (6OFFgHZE

B (B)

—. 1. (45—2x=34 12r=24 12X0.03=0.36 azr=0
6r=0.12) (45—2=34 122=24 azx=0 6xr=
0.12) 2. 14 15 16 3. KT 4. 12=7+5 12=
2X2X3 20=247+11 20=2X2X5 5 120
6. 372 732 7. Wl EC 1 RETBH B

8. 34 34=2X17 9. 3A 4A 10. 2 11. 10 11
ek

1. X 2.4 3. X 4 X 5 X

10 8 12. & 13. x=0.8 5

.1.B 2.B 3. A 4 B 5 A

M. 1. 004 5a 9 1.2 5.15 1.5 2. x=5 x=9.2
x=4.2 =5 3.3 8 1 4. 55 48 110
.1 x=1359 2. =8

.1 BET 20 A BkZEso A 2. 138k 3. /NBf12 %

55484 4. 80K 5. 14008 6. 22T
(2)10 (54 A% 10 H

10 HEl11 H

7. (15 (3)30 (4)36

11TH#EN12H )1 HE4 A

123



BEEW - AEFHECTR - THR

R L Tol S 5 15 =8 & 1 A
1R DHHRN
— Lo —f U 24 S S 2
3 1 1 1 1 1 1 IR
5 3.I 8 9 10 23 17 4, =521
Wnz/N —EHAZHTSN ZtHAZ= T
1 1
5. g 7 1 6.4 6 10
Z. L B 1N 3 s — TR BT A XY 2 £

[

w

=

1

AE TR 9 By X AREE T AT 7 4

. AEEER G EFE 3 43 /N R AT AR 2 17
. ABYLPE LS ABCE I 3K 2 103 55 A N B XA Y
i

= 1
=
E 27T DEERENKR
_ a 3 1 1 10 6 - 3
R T MR RS PRV
N 710 1312 3% 7 1
20721 5. 96 J00 24 60 1000 & 8 g
1
7.
=6 5 2 1 17 12
— 1, 3. ALy 3. 3 s
=.1 67!6 67!6 2.3|67K 67!6 3. 4$7?7K
1
4

2 & v 1
[LL'N §$775?’7K 3

5 3R

—. L.

5 8 § 11 12 5 11 8
5

8 11 8 8 11

24 30 24 30 39
30 24 54 54 6 39770=7,

KA A

BEENERE KANEEREERERNILYZIL

_ 56 75 ()75, 1 5
—. L (1)75 (2)56 (3)131 2. 7 7
= 38
— 54

124

THRS— T 102 HISEFRE)E

LA RN HIR
LORBEANC 5 &k 3 2 50 WA BE 20
29 . 1 3 N
20 19 3.8 3 --1.635.11 1720 16
B 21 5 17 2
617 6. 100 100 9 3600 7. 24
14
7 7[1@
1 1
P L
T
1
4
FE5iRY EHVREBRDOHE
12 10 7 5 . 1 910
1.5 5 1 42.12 173.10 10 4. 8

502345 678 9 66 (4

2 3 4 5

r7 oo o7 B 7 7

7.6 13 ﬁ ST e

JIoX 2. X 30X 4.4 5 X

3 8 14

5 5 5

L L 2 3 4 5 6 7 , 8 8 8
8 8 8 8 8 8 8 “ 9 10 11
< = =

6 1R  BRDOBULRBHIFDOE
7,3 12_.4 4 _ . 11_, 1
L=l ¢=lg =1 o=2- 22
= % 17 4 3.4 WXz tk 4.%
18 _2_ 6 _®_Ad4 6 7 .1
55‘271) (3 4 7 &7 7 17

7.0 ko8 S N K

1. X 2. X 3. X 4.+ 5 X

13 8 5,3 9
I'g 2 4 274 3
L Py - 4 Py P Py
0 1 2 3
11 2 1
215 4 13 2 69



srmE Wl

4 _, 8_, 8 _ o 15
F.3 2—2 2 4 1 2 75 90
E7FRN 2BESNENEL E101RT HIR
— L+ AL g E oy ok Lo b — L 2ACRME—) 2.6 2 3. M% /N 418 5
A 10 10 : 100 100 o . : 3 : :
. 1 24 . 3 17 1 31 .3 39 ,3 1
3T S 55 24 qop 4B AT 6 1355 35 32 10 'y 5 35 3
519 ; 13 5 7 _
o 517 20 0.85 6. > < < > 6 (g o+ 5 ¢) 2715718
6 9 , 7 35 o2 1o < > <
10 10 100 100 100 1000
_ 3 9 1 7 13 138
=.0.6 0.43 0.5 0.5 1.67 0.8 0.5 0.33 0.25 | —> 5 10 5 20 4 125
e 25T _ 6 3 15 5
P, 0.125 0.5 0.75 3 3 3 =17 2 3
#. B 3 5 3 5 6
WL S o2 3y 4o 5
75, BRUiE
5 36
E 8 iRl DEEARMR 24
—. L RSB HEGE 2 (4 12) 2 BNRY BD
— L1 woMy = w2y Aty w8y
_@ - g L
Gy (25 24 3% 3 R34 AR — = 2 BBRRE W 3. A B AER
s kafs 64 7.2 8 809 1200, 4 Pk AN G s Gkt odukss 6 2
. [§] . . 50 . 10 15 20 . 1= H . A 3/ ~ . 60
=L X 2. X 3X 7.%8.:<><9.48 120 15 136
=. LB 2 A 3.C 4B
52 33
ml 2 3 9 6 8
“12 12 12 12 12 12 S (10 9y (ozly (50 21y (3221
— 12 12 30 30 75 75 56 56
F.9>301>12>3=>1-4
VT 54" 27 (21 10y (8 11y
60 60 18 18
E iR 49
_ 3.3 2 2
— L 2.+ 3J 4 5 X —a ab b ab
LA 2B 3C 4 A 5A 6C 1218 SSSHBMANE
— 3 2 3 gemy 4_1 3 1 8_4 —1LX 2. 3.J 4 X 5
S RS 6= 3T 103
- > > > > <
S5_1 4_1 183_1 11_1 15_3
153 8 2 26 2 33 3 25 5 _ 2 3 4.6 7.4 4_5
— 11 "10 5>35 10>9 7>14
18_9
T 5 4 4 5
m‘<10 10 =) (6 6 <)
m, —k£
44 45 21 20
. WP <99 99 <) (24 21 >)

125



BEEW - AEFHECTR - THR

. PHRCER
73, /iR

&

3_5_5_6
8<8<7<7

2 13 180¢
— L << > < < < >

HIIR

LEREE

N\

AN T M T oL /NI

(i 2 4 6 5 7 1 7 4 17
18 10 7 20

e
w
a
—_
—
o
—_
Do

P

m. g Dk R
H,HE R K
ﬁ%(ﬂﬁ—)
F14FY BEBES5%S
5 023, 1 :
Lo T 2oqp 16 3.1 F% 6 5 5F5%
w s L L1 3 / 9
1432 5 4 = = 6.7 14 20 7.
1
15 3
— 3 4 5 3 g 21_3 15_3 36_ 3
— 4520 O SsTE 90T 4 4T 2
18_ 3
277
_ (9 20 32 25
—‘(30 30 <) <4o 10 >)
44 35 14 15
(77 77 >) <18 18 <)
M. /NEH
13
A,

SEPUERTTEARUEETR 5 Pk ik SRS
[ %57)

2 17 11 17

143 70 102 72

126

6

8

9

SBIRTRTNE
— LOFESR LG L PR 2+ -

3. 48 1/NRRPER I3, — W ERA I TR SRR 2 £

1 m 1 1 5 3 2
49 T 156 6.5 T 15 5 = -
6 16
6 1 6 —5 =
712 21 36 28 — 8 — — 9.1~6 =7
- 117
TR 0 10, — S CRME—)
8 35
.1 X 2. X 3.J 4 X 5 X
=.1.B 2.C 3.C 4 B 5 A
1 2 1 3 2 3 2 .1 1
A l5 5 5 5 9 4 2ls SE g
9 16 1210
3. <2/1 24 <) <15 15 >)
16 21 21 20 12,1
<%6 36 ) (24 21 =) 4 1111
4, 7 _,1 35__.5
nt 27y 6%
., F 204N =/
U B . 220 23 a2
7%, 1. 20 2. {UNBN 3. 'fj[:)”‘:55 Eﬁ‘f“% ':F"ff%
1 10 : 1 1
I TER TS B 6. /MNME 7. 5
LS N ST (9 105, 1 V3 AP
F 1176 BHS82EN0.8E
— i A~ l Vo 7 AN
N w5 17 W7

_ 27 13 11 29 5 11 7 23

—t70 70 24 24 18 18 20 20

. 1., 1,
k2. 10* 3. 10716

111
.
J—

F 2R DEIDBESIER



[11
\

(]
\
\

FEI3iRN BEES54%I
8 1 2 1 1 17
ot 3 4 s o1

A
11711 34 6 18

" o 91 G0 o1 5

— . 3 2 9
=0 75 3 7
17,
m 1O7K
1
A.gp
e
VAR 45
FEheHTHASER Sk 6k ERE
| @) |
15¢+12b+10¢
60
FEhememnliis
oyl 5 2 1162 e
L o 7 2y oy 3. e
X 9 1 2 15 1 13 23
ya e e =2 &Y
Wi 95 95 3 4425 95 95 65
1 _ o M 16
7.5 138 8. < < > > < = 9 o =2
10. FfiE AT AT
Z 1L X 2.4 3. X 4 X 5 X
=LA 2.C 3B 4B 5 C
71 2 1 _31 _ 11
.1 12 6 1 5 2 6 1 2. x 24 TTIg
_23 13 715
1=y TTay 39 0 50 g 200
2, 2, 7, By o< Uy
Loz 21 37|< 3. ﬁFET% 4. 15“ 5. 24ﬂt
43,
6. 307l<

P

.1 (DO 6,6)

H B

>k

BEER
EAL
1R EBNAIR
LB O M 2 IR LR 2
B 30 i@ BGIF AR LB d
4 REC M S B PR
BE i ok

6. [F.0>

HiE

7.3
6 8 Fm 2 9.
10. FE

JLoXo2o X 30 40X 5 X

V20 JHDK 12543k 14K 0,625 2K

L (CD) (OG OC OD)

CLOEE 20 WE 30

. Emg R AR TIE TR

£ 21RIF LHIR

JLL5 2.4 3.4 4 1CRME—) 5. Mk

V12 BRSO 0,75 40K

1. PR 2 JEORABIR 2. EARN 8 HORAYIEK

- AR —RER

LB 2.0 B

10k 0.525 =k

w

0:(9,2) 0,12,3) (O 3 T

4 (T4 FH 3D OREEG,S  @WIEL

2. 5.5 HE

N HARRE 4 JEK

£ 3R BEEVAIR
Lo BRI
WX X X
. g
XXX X VY XY
. 180° 90° 72°
. [BE

N3

PRI

E 4R BEVBEKMD
CLOJEK BB BMEER oo 20314 3.0.5

127



UL IR W - TESE R - STHIR

4. PR3ME 5.4 12.56 6.«
Z.1L X 2. X 3 X 4 X 5 X

9.42 JE 12.56 JE 21,98 JE 18,84 JEkK

P

(12.56 18.84 25.12 31.4D

JE|

(6.28 9.42 12.56 15.7)
1. 62.8 JHK 2. 131.6 JEK 3. 104
9.42 Tk

H

>k
’

F5RN BENEK®
(L5 D (45 (1256 9.42 15.7)

X 2.4 34 4 X 5 X 6
L9042 JEK 12056 40K 20 5Kk 9 JEK
3,25k 2.25 JEK

LA 714K 349K 202048 3. 0.7k
. 10K

I
;
=

IE|

F 6 1R FHIYERM
—. (3 0.6) 4 3) Ur 9 2.25x 0.367

’

L0.01 9 16 25 1.44 100 6.28 18.84 34.54
28.26 12.56 113.04
1L JEK—F R BmEE S=o? 2. 12.56

3.2 4w 4. 153.86 5. (1)0.785 4yk?

P2

(2)38. 465 JEk?
1. 1256 K% 2. 31.4-FJKk 3. 150. 72 JEK?
28. 26 SE-J7 K
F£71RY BHVER2
—. 1. 113.04 2. 54.24 3.78.5 4. 4 5.2 12.56

IE|

H

6. 7.065 7. 8. 100. 48

=L 28.26FJ5ark 785 FJTJHK

2. 12.56 Ik 19,625 Frk

3. 12.56 FJ5 K 200. 96 F 75 JEK

V10706, 5 F K 20 63,585 SF K

38. 465 FJ5 oK

M. Jk EHFEER 9. 8596 K2 [ 12, 56 K
8RN HAEEFHNER

—. 1. 21.98 2. 63.585 17.415 3. 9.42

128

T L 2198 EK 2. 37,68 P EAK
3. 357K 4. 28.5 FHEK
1. 62,8 F K 2. 50.24 FENK 3. 84
50. 24 P 7 A
FIRT LHIR
—. (2.5 4 (2.4 4 (7.536 15.7 25.12)

P

=

v

(4.5216  19.625 12.56 50.24)
Z. L 2512 em? 2. 25124k 3. 28.26 K2
1. 113,04 2k 2. JAK 31,4 JEk WAL 78,5 5 JE
K3.0.0314 FJrKk 62,8 HK
P9, JA1 405. 6 43K AR 5488 “F 548K
£ 107N BEE54Y
—.1.C C=nd C=2nr S S=m" 2.50.24 25.12

111
.

M

3.1.5 7.065 4. 50.24 5.2 4 3 1 FIH

6. 9

.1 133.452K% 2. 50.24 K?

L1204% 2. fE 2.2608 Tk 3. (41123

(2)27. 52 2K?
M. 6.28 K?
SENBITHAER S YR EREN
(X %3]
25. 12 K?
ST TS
—. L3 BAE = 3.14 2. 1.5 3r 2.25m 3. 900
450 202500m 4. 5t 5.8 16m 6.4 2 7.3 9
8. 10m 25m 9. HKM—F kKB KX5 S=n
10. 20x 100m 11. V1 Jo 1 12. 4 16=x
13. Bl 2B
Z.L X 2.X 30X 4.4 5 X
=.1.B 2B 3. A 4C 5B 6 C
MM, 1.0.16 36 0.01 2500 15.7 21.98 25,12
28.26 2. (D5om Pk (232n FJyJEK

(3)30.96 cm®  (4)62. 88 F sk 3. (w+2)JHK



BEER

1. 57 7 JE K Z.1 X 2. X 3. X 4 X 5 X
F. L 12z K2 2. JHK 1on JEK AR 257 F 5 EK =.1 % EonliesiE 1 2. ME K2 TR
3. 793.5 - EAK 4. 2025007 S5 K LR 1
5. 1600m EHEK  8ox JEK 6. 5 KAIEE - 31 1
M, 195 2. 55 3. 1999 5000

FLAE 7. (D16x B (2)10x JEXK
F. 1 9em® 2. S EJEK

18 i (5 [y 2o S B X1l 4m 2 Srm
1R FARAEVRISERREIE (1) £.1 12K 20555 3. 214 4 10548
— L KW 2. HTEE 3. R UiE 5. 42, 14 PRk

4. KFE 5. FSFESEONE 6. TRk
Z. 1. 86 JEAK 2. 54 JEK

L1 9 EUTER 2. 6. 28 IR F1iRN B3P
—. 1 =5 z—5+2(E 2x—5 2. 4a a* 3. EEW

FNHIL P

M, 25.5 )5k

50180 AL BRI A (2) iy 4. 28 5. x+1 x+2 6. 180—ab 7. 200ab
8. 45—2x
127 - 1 - )
—. qpg 65 19985555 295

Z. 1L X 2.4 30X 4 X 5 X
=1L 21 ¥Jk 2. 5.4 3. 23

J1 10K 20 200 T3 3. 10550k 4. 1%

=. 5050 mo12

Parand N < §I E > I N s -
EIifN BES5%Y 22N RESEH
—. —HR —.1.56 2.49 50 51 3.2 1 EAH 3 4 2

= UK 2 A 1 AR R I R B ok 514 98 6. 10 10 8 11 7. 24=11413=17-17

=1 % 2. 18. 75m Py EAK =19+5 8 12 12=2X2X3 9.5 20 4 20 20
M. 26 EkK 5 20 4
5 B ST R FUAR SR 5 1k b BR KK .1V 2.4 3 X 4 X 5 X 6. X
(X431 =.1 B 2. B 3. mg
2500 M. 1. 124 2. 42
FtexsaTiiis SRCE S
— L K¥E K % KFE 10 6 60 60 2. F FE IR D= AR
e =miEmiE =MElE 24/ 20 _\1'% % 2'%5 L3 B 5 4 43
3. KB ERmB—F ER ER 36r
4 20 18 21 5 AL L 28 L1 2939
4. VAT BIRSTFIRMA & 245 18 13 6 © 100 40 60 4000 24 60
78 39 5. HEFORM: 1256 23 28888 /& 3 231 1083 ¢ a—l a4 o o g 1 g
100 1000 a a
6 W BMEMEE 2.6 2 123 7. <& o e

129



UL IR W - TESE R - STHIR

Z.1 X 2. X 3 X 4. X 5 4

o) (3w & &) (LB

1l

F 4R DEEMDENRE

- .2 1 1 1 5 .3
—*To4 YT 9 Ty YTz YTy Ty
= 1 3 ;1 7
=4 5 4 10

13
o 12/J\HjL

11
N
o~ 1
VAR 9

FEL51RY BESIWT

—. 1 6x 97 2. 0.8 3.4 2 4w 4. 6xr 3 9m

5. 60 6. 3.14 12.56 2 4=

[
y
=

X 2.4 3. X 4. X 5 X
VL6 25n R EK 2. 9n EHEK

2. 5w k!

. 1. 1007w K2

V18P TT K

H B

E 6k St
—. 1. B 2.m% 3. (L6HA 1A

(3)170 2K

ZoLome 20 W 30 ORI BTHES LUORERET

Feadh 4. ZEEE o
.

IFEEIE—HBVHER D

—. 1. 6+0.7 18a b+0.2 a—b 3x+1.2 2. DO®

®® 0OO® 3. 100+

2.5 6. 3€35 7.5 10 8. /MHIMAE

Rl—tLpikTE 9. 4 10, 1la 11. n—2 n+2 3n

12. 2a+26 13. (D<< ()< > W<
Z. LV 2V 3V 4 X 5V o6 X 71X

130

(2)3H 5H 64

10 4. BLL28 5. Wk
NEES AN

=

. 1L 3x+40X5=305

LA 2 3 4 6 12 (7 14 21

8. X

1.B 2.C 3.C 4 C 5.A 6A 7.A 8B

Lo+25 90 2. —12 41 3. X9 972

=184 x=2 z=1.6 z=5 xr=15 =100
r=35.4 =20
2. x+3x=200 3. 2xr+8=46
ERI15H 3475 T %
4. 4/NBF 50 20 HK 6. 160 K2

IFEEIE_ (FEHR 2
28 35 42
49) 2.11 3.4 5

20 20 4 5 4.8 5 (5+

7 (A1+13 5+19 6. 10 8 7.12 96 8.5 6

1 1 2 1 .
1 9 3 Coow L5 1202

13. > > = >

X 2. X 30X 4 X 5 X 6V

.1.C 2.B 3. B 4 A 5B 6B 7.B 8 C

sy g 2 (n n) (R
.17 4 7

80 48 287 280

27 .35 40
\1.9'%62 ir62 2.(1 2 3 4 6 12) 3. ETH

WESL 4 B RAE RAE B85 A5 mAE
E 3 R A 2 1 4
85 Sk 2 3 WL 5. 124 6. 5 o

PEREIB=(BES@D

L4 Arm 20 9n EFEDK 3.0 15 K 4. 4An

i 5. KB 4 4dx Am 6. 4 8 7. dxn FHJEXK

8 10m 9. 12x 10. — 2 4 11. 8 12. 1

X 2. X 3 X 4. X 5 X 6 X

1. A 2B 3. A 4 A 5 DB 6B

VL 9 FIFEDR 20 (Ddx JEDR 4x P57 JEOK

(28 43k
(2)(8n—16)F-J5 K

16 Ik 3. (1)32—8x

(3) 64 7 K



&,

N

N

N

IE|

!:H]E

Sk
:

1. 400n FJ7JEK 2. 60 JEK 3. 22K 4. 0.0625%

k2 5. 25m K’ 6. 16K 7. 3xk 8. fiE
IFEEISEO0(GFEITRIM)

L #t4 2.0 LG EASES R 30 100—4x
60 4. (DFFTEG H#5RY /NY s RIE
6. FRMER 7. XB 8 ek 9. a—2
(OREH Big  (DORE
14. BEAH
16. 15x 17. WAy AT M5 HAL

. v 2. X 3 VvV 4 X 5 X 6 VvV

(2) /Mg
a+2
10. 34a 6a 11. (2)HM
LLB

15. 1.2 5

12. 26+a 13. 0.5 2.5

2=9.5 x=51 2=50 x=15 =25 x=4.1
1. (D990 (2)600 (3)4137 2. (1)0. 621
D1FK 1044 ®AH 3. (DIKX DOFK

167/ XM= 165K (D—HIERE T

1. 50 75 2. (D25x+22y (2)190 4 3. 150 #f
4, 140 T2k 5. K 150 k9% 100 JEK

IIXREISHERMBEIZD

1. % e 2. 3JECK 6n JHK 9n O JECK
3. F% MY 24% 4. % =m 5. 60m 6. 10m  25=w
7. NE 8. 4 9.9 9z 20.25x% 10. BHFeE 24

12 288 2 11. 8t 8 64rx 64m 12. 12
13, 40 F K T 14. 80m  400x
.V 2.V 3.V 4V 5 X 6 X

1. B 2B 3. A 4 C 5 C

1B 2. B
1. 86 Bk 2. 9n FE)7JE K
1. 253 2. (D) Q00+40m)K  (2) (400x+2000)FJ5 K
3. 20n EOk 4 105 % 5. ggg 156 7350
BAZRMIGE S (A
2 1 1 3 —
l.47t47t2.3 63'5 54.> >
5. L 8 5 68 7. 5% 6.25% 8 1+5—2-

§ 8

10=3+15FFEAME—)=0.2 9. 40 2 24 4

srmE Wl

-1V 2.J 3 X 4 X 5 X

=.1.B 2. C 3 A 4 A 5 C
2 4 1 1 .13 1 5 ., 39
AL 9 350 2 Vg 35 ¢ 2275
1 _ 3 13 1
1*20 x=10 x=0.5 3.1 1 132 2 11

A,

4 MRNWE T F/NAERSS RN 2 &

INVAAERL 156

1. 3/MAf 2. 660m K 3.;—(1) 4. SR TE 9B
5. 21.52K* 6. /NN 20 3K /ML 40 K
BRI (B)
—\1.%%%2%%1423,i%
4.354=0=2=075 512 2 6.a b T. &
2 8637 9.2 46 8 (68 O
10. 1~7) 8 24

—_

=

S

&,

S

—

1. X 2. X 3. X 4. X 5 X

1. A 22A 3.C 4 A 5. B

1. 11.3 40 1 11 9.99 70 620 0.102

1 24 1
— 15 — — n— — =1 —
2110513811.281203.3527
3 1
8 14
1. 50 A 2. 8H 13 H 3.% 4, 450 cm 5. 32570
5,
6 7716
HASRMAEE (O
3 1 1 1 1 -
1. 1 ab 2. 7 7 3 3. 3 18 4. 3. 5x
2.5z 4.5x 5.6 4 21 6 < > < >
8 9 ;1
7.5 o lg 8 ab 9 5m 6.25m 10.0.48

11. 2 9 12, Jo¥k
1. X 2. X 3. X 4. 5 X
1. A 22C 3B 4B 5. B

131



CIREEW - AEEBECTR - IRER

2z 6

M.1.1 0 T 11

I—% =100
5.1 2

5. 10m 40k 257 )54k

—. L FARAKM—F

30 40 0.8 3.

132

x=17.35

*i

€
8

43

60

OO‘UI

Sle

KX5

2z 1 15 —
50 5g 2 x=417
S 13 2
1% 2 0 3

S5 280 T 3. 420°FAEK 4. 524%

6.

—_
01‘[\3

HAZRMH# (D)

2.5 4 20

4.10 3 5.56 1 24

7. 3 35m 6

8.

E 10 ZI4E 3 9.6 10. a—2 a2

11. 24=2X2X2X3 12. 4 16

—. 1

M. 1.

L

X 2.4 3. X 4 X 5 X

A 2.C 3.C 4 A 5. B

12 2 ;3 3 .o, 1 25

35 7 15 28 ¥6 T %

+=0.8 =115 2=0.6 =1 3. 15 L
1 5

7

15 4 (D12 FFEAK  (2)25 FHEXK

L6 SEFK 32K 20 35K 3. 2.37C

BIH— 5. 16n K



